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Question Number : 1 Question Id : 70819115784 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
X

The workdone by a gas molecule in an isolated system is given by, W= ;'t-ljzp «kT where x

is the displacement, k is the Boltzmann constant and T is the temperature. a and { are
constants, Then the dimensions of § will be :

Options:

12 fa
70819152501. Lol

il ]
70819152502, ML T

.
70819152503, IM LT

] 2 2
70819152504, (M L=T 7]

Question Number : 1 Question Id : 70819115784 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

:
gcollegedunlas
India’s largest Student Review Platform



-

X

8Rfal3 80] QMO 88 B0} AOBE EMI® O.2IGIM (ol W= uﬁzu_ﬁr

ag)m’ @amldlanim]. ol x moomomentio, k eeuo@dsmiaom mudleoonao,
T moatflaiimoen. o, B agymilcy cudieomseacsm. p @S HHWeRMDAHMBR0Wdlea)o :

Options :

q2 2
70819152501. e ]

70819152502, IM’ L T7]

2
70819152503, M LT ]

] 2 2
70819152504, (M L=T 7]

Question Number : 2 Question Id : 70819115785 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two stars of masses m and 2m at a distance d rotate about their common centre of mass in
free space. The period of revolution is :

Options :
I [3Gm

[ 13
70819152505, 27 V d

3
i I| d
2m =
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Question Number : 2 Question Id : 70819115785 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 3 Question Id : 70819115786 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical parficles of oqual masses 1 kg made to move alnng the circumference of a
circle of radius 1 m under the action of their own mutual gravitational attraction. The speed
of each particlo will be :

Options :
J(1+242)G
708191525009, 2
G
\jT[.l F22)

70813152510. © = gcollegedunias
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G
70819152511, V
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Question Number : 3 Question Id : 70819115786 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 4 Question Id : 70819115787 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Moment of inertia (M.L) of four bodies, having same mass and radius, are reported as ;

lI =M.L of thin circular ring about its diameter,

[,=M.I. of circular disc about an axis perpendicular to disc and going through the centre,
;=M. of solid cylinder about its axis and

[;=M.L of solid sphere about its diameter.

Then :

Options :

I
70819152513,

41 < L4l
70819152514, ! 3 bl

70819152515, 1— =<l

70819152516, 1~ 2=~ 1y

Question Number : 4 Question Id : 70819115787 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819152515, 1==I3<1

70819152516, 1= =13 > 14

Question Number : 5 Question Id : 70819115788 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider two satellites 51 and S?_ with periods of revolution 1 hr. and 8 hr. respectively
revolving around a planet in circular orbits. The ratio of angular velocity of satellite 5; to the
angular velocity of satellite 5, is :

Options :

70819152517, 8:1
70819152518, 1: 8
70819152519, 2: 1

70819152520, 1 4

Question Number : 5 Question Id : 70819115788 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819152517, 8:1

70819152518, 1: 8
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70819152519, 2:1

70819152520, 14

Question Number : 6 Question Id : 70819115789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Each side of a box made of metal sheet in cubic shape is ‘a” at room temperature ‘T’, the
coefficient of linear expansion of the metal sheet is “«’. The metal sheet is heated uniformly,
by a small temperature AT, so that its new temperature is T+ AT. Calculate the increase in
the volume of the metal box.

Options :

ey o
70819152521, 4ma adT

70819152522, 4a’aAT

4
—madwAT
70819152523, 3

70819152524, 3a’aAT

Question Number : 6 Question Id : 70819115789 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819115790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If'Y, K and 7 are the values of Young’s modulus, bulk modulus and modulus of rigidity of
any material respectively. Choose the correct relation for these parameters.

Options :
UK
Y= % [‘\\J;mE
70819152525. 2n +3K
o
Y= = N/ m?

70819152526, &

—_ N/m’
70819152527. e

o)
n=— ‘t E\’ N/m?
70819152528. OK.+ Y

Question Number : 7 Question Id : 70819115790 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819115791 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the velocity-time graph has the shape AMB, what would be the shape of the corresponding

acceleration-time gra

ph 7

Options:

time(t)
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Question Number : 8 Question Id : 70819115791 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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time(t)
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Options :
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Question Number : 9 Question Id : 70819115792 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n mole ofa perfect gas undergoes acyclic process ABCA (see figure) consisting of the following
processes.

A—=B ’ [sothermal expansion at temperature T so that the volume is doubled from
V, to V,=2V, and pressure changes from P, to P,.

B—C :  Isobaric compression at pressure P, to initial volume V.

C—=A g [sochoric change leading to change of pressure from F'2 to P'l.

Total workdone in the complete q,-‘cle ABCA is:

Pa
Pyf=mmmmm- ;
Pyl-====--- . B
Ci |
[ |
| I
| I
| | 5
Vl Vz=2“.fr1 V
Options :
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70819152534, nRTIn 2

70819152535. i

70819152536. g

Question Number : 9 Question Id : 70819115792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 10 Question Id : 70819115793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List II.

List 1 List 11
(a) Isothermal (i) Pressure constant
(b) Isochoric (ii) Temperature constant
(c) Adiabatic (iif) Volume constant
(d) Isobaric (iv) Heat content is constant

Choose the correct answer from the options given below :

Options:
70819152537, (@) — (i), (b) — (iii), (c) — (ii), (d) — (iv)

70819152538, (@) = (iii), (b) — (i), (c) — (1), (d) — (iv)

20819152539, @ — (), (b) — (), (c) — (if), (d) — (i)

70819152540. (a) — (ii), (b) — (i), (c) — (iv), (d) — (i)

Question Number : 10 Question Id : 70819115793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
70819152537, (@) — (i), (b) — (iii), (c) — (ii), (d) — (iv)

70819152538, (a) = (iii), (b) — (i), () — (i), (d) — (iv)
g (@)= (i), (b) = (), (c) — (if), (d) — (i)

7081915253

70819152540, @) — (i), (b) — (iii), (¢) — (iv), (d) — (i)

Question Number : 11 Question Id : 70819115794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n the given figure, a mass M is attached to a horizontal spring which is fixed on one side to
a rigid support. The spring constant of the spring is k. The mass oscillates on a frictionless
surface with time period T and amplitude A. When the mass is in equilibrium position, as
shown in the figure, another mass m is gently fixed upon it. The new amplitude of oscillation
will be :

v

L~

-

#

m [~
o [~
 owmr—
& k -

|~

[~

L~

L~

.~

L~

FILEF PP iIIrirrlriirry

Options :

70819152541.
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70819152542,
A M—m
70819152543, M
A n1h1
70819152544. s

Question Number : 11 Question Id : 70819115794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

omidenim afiveniid eo) aoqM 66} @Ko 600 B0} ®EEIEMS §0allaisies
alovlimmow 80} Miaflorflemos allslaflafldlenm) miallowy” mudleomo k @en.
oplBariemailg)omm &0) daldloaesl@ o aoqy, T eeUdemMHILIEEMINSDio A
epOelewinswle ¢aoaimo aalgim). alimmuiad amoerl.alldenime caulonel, £ Q)
eeaflo@ cvmele momen eowldeniemiod, asgoe) aoq m @eellm) @)dsld
)60l goaflenimy. esoaimedon aljdle ewel epaldsno :

SO,

FT77 777

Options :

A M+ m
70819152541, V M

70819152542,
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Question Number : 12 Question Id : 70819115795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cell E; of emf 6 V and internal resistance 2 (} is connected with another cell E, of emf 4 V

and internal resistance 8 () (as shown in the figure). The potential difference across points
XandYis:

P E'l
_| |

2 Y
6V.20 4V 80

E
I |
'

Options :

70819152545, 20 V
70819152546, 3.6 V
70819152547, 5.6 V

70819152548, 10.0 V

Question Number : 12 Question Id : 70819115795 Question Type : MCQ Optinn Shufflina * Vac

Is Question Mandatory : No .
Q y collegedunia:



Correct Marks : 4 Wrong Marks : 1

6 V & ago afanje, 2 0 @l (ialerownlo 988 E, agm e} emad 4 V & ago
aganio 8 0 @Ml irllerowaljo 988 16[OY) MG E, -aflemos agislaflofidlsanimy,
(allmomlad soenlafldanime euoeal). X, Y agmml enlloenidas” 4)0j0H0168
aloga)@d almiomo @pen :

E, E,
f_|. X
I . 1]

6V, 20 4V, 80

Y

Options :

70819152545, 20 V
70819152546, 3.6 V
70819152547, 5.6 V

70819152548, 10.0 V

Question Number : 13 Question Id : 70819115796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current through a wire depends on time as
i=agt+ Bt

where a;=20 A/s and [} =8 As 2. Find the charge crossed through a section of the wire in
15 s.

Options :

70819152549, 260 C
70819152550, 2100 C

70819152551, 11250 C
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70819152552, 2250 C

Question Number : 13 Question Id : 70819115796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a0} anlolepswies aaisy® olbe, mawa)mow
i=agt+ Bt

agm dleflled epwienim) oald a,=20 A/s, p=8 As 2 agmilcuwoen’ emilw)es
80} cancmilens 15 mdeamfad dsm)ealodsim oo dbeenamms)d.

Options :

70819152549, 260 C

70819152550, 2100 C

70819152551, 11250 C

70819152552, 2250 C

Question Number : 14 Question Id : 70819115797 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two equal capacitors are first connected in series and then in parallel. The ratio of the
equivalent capacities in the two cases will be :

Options :

70819152553, 1:2
70819152554, 2: 1
70819152555, 4 : 1
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70819152556, 1:4

Question Number : 14 Question Id : 70819115797 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

06ng miel) dalomigoied eoale ewerdaloe, allmis’ macnmeaowo cailafleaim
ERAI®INS MWasel dhajomidlegies @emialomo EpWldenio :

Options :

70819152553, 1:2
70819152554, 2 1
70819152555, 4 : 1

70819152556, 1:4

Question Number : 15 Question Id : 70819115798 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cube of side ‘a" has point charges +Q located at each of its vertices except at the origin
where the charge is — Q. The electric field at the centre of cube is :

AX
+Q +Q
+Q +Q
+Q i
+Q =0 “

v —a—> +Q

Options :

70819152557. gcollegedunias
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Question Number : 15 Question Id : 70819115798 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘a’ g 60} dmien memln) efleawgs ajedhdd ageoo talddila alode
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h L
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Options:

2 (34543
—_—— % y Z
33 ena’

70819152557, V3 ™02 g
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Question Number : 16 Question Id : 70819115799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f an emitter current is changed by 4 mA, the collector current changes by 3.5 mA. The value
of B will be :

Options :

70819152561, 7
70819152562, U-875
70819152563. V-3

70819152564, 3.2

Question Number : 16 Question Id : 70819115799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} agalgd #0) 4 mA aogleomd, H8450 HOM 3.5 mA @0je. B @eSs allal
eoWldleao :

Options :

70819152561, 7 .
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70819152562, 0-875

70819152563. V-3

70819152564, 3.2

Question Number : 17 Question Id : 70819115800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n the given figure, the energy levels of hydrogen atom have been shown along with some
transitions marked A, B, C, D and E.

The transitions A, B and C respectively represent :

+eV
<o Continuum = ¢ 7
- — = DeV
n=As —05 eV
n=4 —0.85 eV
n=3 ; —151 eV
gl € b
n=2 3 —34eV
A E
n=1 —-136eV

Options :

The first member of the Lyman series, third member of Balmer series and second member
70819152565, ©f Paschen series.

The ionization potential of hydrogen, second member of Balmer series and third member
70819152566. of Paschen series.

The series limit of Lyman series, second member of Balmer series and second member
70819152567 of Paschen series.

The series limit of Lyman series, third member of Balmer series and sec
70819152568, Paschen series. gcollegeduniag



Question Number : 17 Question Id : 70819115800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

omildleaym aliwadiad, A, B, C, D, E agm @eswognqlsimilaidanim amogemd
Madlmo eeaowe® epgeien) ovdamlasd aoer.afldaenim) mgeas@dA, B, C
ag)micu @O0 alladwomo .o1gym® :

; +eV
B Ua‘-‘m"é]m(jo Sl
: eV
=5 ~0.54 eV
=4 ~085¢V
n=3 ~151eV
gl € |
n=2—— —34eV
A F
h=1 _136eV
Options :
n6emom euerlalen aaaeom oo, iddab euysmiaina mymoneem @rowo,
20819152565, alomignd cuyeriaiea reIaOm® @otlo
Oe0WRM @rewoalaoem salogidaud, siodad ewemldina oameonamm
70819152566, 000, alomiad ewyeridioal mmoaamm @voo
eneimom egeries euyerd aidlull, snodad ewreriwes nenzonem @M,
70819152567 alomigmd euaeniiesl menzona®m @ootdo
0o ewerwes eraemlaldldl, mioad eremiwins aMoasmm @vowo,
20819152568. aloMidhad eUeNTIwINsS MEN0ROE® @Bowo

Question Number : 18 Question Id : 70819115801 Question Type : MCQ Op

Is Question Mandatory : No collegedunia:
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Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : Two photons having equal linear momenta have equal wavelengtha.

Statement Il :  If the wavelength of photon is decreased, then the momentum and energy
of a photon will also decrease.

[n the light of the above statements, choose the correct answer from the options given below.
Options:

70819152569, Both Statement I and Statement Il are true
70819152570. Both Statement | and Statement Il are false
70819152571. Statement 1 is true but Statement 11 is false

70819152572 Statement 1 is false but Statement 1l is true

Question Number : 18 Question Id : 70819115801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
21OIOS O (mimIMdtd mmildanim) :
(ad@ocum 1 : 660 ¢l ERHNDER M6 Ean0s50M ke B8 Monanabee)o
(@) 6M)BRM.
(adoi@acum 11 : ¢noego6ilem meotenadealio &)0.ajodd, 6o} canoegoeam Eadanyo
9d&00 HIOW]o.
eadda]0emm (wnimoaInegies ealglyomld, mony esosiidsnimaudid oo
PRI HODDO OMOEETMNS L)1 .

Options :

20819152569, (HTM®IAUM I o (almimonum 11 go vodla@oemy

70819152570, NENTREORMEL Q10 KNI e 1F G BXREION

fadimonum 1 vadloem alees flaimocum I emgosny
70819152571.
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70819152572, i rumocum 1 EIMAOEM aléldhH (alrOmMOCUM 11 vadlaoem

Question Number : 19 Question Id : 70819115802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The focal length f is related to the radius of curvature r of the spherical convex mirror by :
Options :

70819152573, /=T

70819152574, /= T

o
70819152575. 2

f
70819152576. 2

Question Number : 19 Question Id : 70819115802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} 6 EHMaABM Blalemaniian candsnm ajte fEnalad al&m @dter Ho
@@ B(aldkb000 eIMLe STk :

Options:

70819152573, /=1

70819152574, /= T

="
70819152575, 2
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f
70819152576. 7

Question Number : 20 Question Id : 70819115803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment, the width of the one of the slit is three times the other
slit. The amplitude of the light coming from a slit is proportional to the slit-width. Find the
ratio of the maximum to the minimum intensity in the interference pattern.

Options :

70819152577, 4:1
70819152578, 2 1
70819152579, 1:4

70819152580, 2 : 1

Question Number : 20 Question Id : 70819115803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

an) waded welld qflg adatemodd, e ldend ool acgafled aldlwes
ojm’ asemosm’. &80} QRIS HSMIAURIM (addnare) epesl qlgled
aflmimondlal’ epmiuoe]encem. oaddaodm almpmaenina anaul eslome
)OO0 BUUBHSINS BOMAIOMO 6T db.

Options:

70819152577, 4:1
70819152578, 2: 1

70819152579, 1: 4
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70819152580, 2 : 1

Physics Section B

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 21 Question Id : 70819115804 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coefficient of static friction between a wooden block of mass 0.5 kg and a vertical rough
wall is 0.2. The magnitude of horizontal force that should be applied on the block to keep it

adhere to the wallwillbe ~ N.

[g=10ms~2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

708191593
2

Online
Mandatory
10

5

20

Yes

1
708191873

Yes
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Question Number : 21 Question Id : 70819115804 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.5 kg 20qI88 B0) @S] H3Wo B0) aldjEmmIW alosn Elewlole ®merlees mudlm
oglBattem mudlomo 0.2 @M. O Hge@ @ lomleld 9oaflajy mldemomow]
llewodleanens alovalln euerson aidaoeme apem N.

[2=10 ms 2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819115805 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An unpolarized light beam is incident on the polarizer of a polarization experiment and the
intensity of light beam emerging from the analyzer is measured as 100 Lumens. Now, if the
analyzer is rotated around the horizontal axis (direction of light) by 30" in clockwise direction,

the intensity of emerging light willbe Lumens.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819115805 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Cal08He0CMadM Mocnl#nImm 6] (IHINEInMo B0) CalI8anNEMAHMD
al@lasemoion enlnaee0mdled alfleniemion, emesaimdia mlmie aljoms aeym

ladovamlan dlicum 100 ejafdmd ol masnm). devzln medto (ldieomlan
dloolda) epwonnddesdl 30° caslain dlrald eamessmaolan &odilwa,

alOEMIUR)M (aldonmilan oo epolden Bl
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819115806 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A ball with a speed of 9 m/s collides with another identical ball at rest. After the collision,
the direction of each ball makes an angle of 30° with the original direction. The ratio of
velocities of the balls after collision is x : y, where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819115806 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9 m/s cumnmaiags 8] ol olrasamodleles 86} MBIMm al(miaow
&) fislanmy). &glalickes) etantto, 80802 almiofie dledd ARAREM Altrwimon
30° eoamBal mjadSldanim). d)Slaflsles etiatio HES alMIBRINS (0 lCNEIBRINS
@Malomo x : y @M. enalldd x o @),

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819115807 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A hydraulic press can lift 100 kg when a mass ‘m’ is placed on the smaller piston. It can lift
kg when the diameter of the larger piston is increased by 4 times and that of the
smaller piston is decreased by 4 times keeping the same mass ‘m” on the smaller piston.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819115807 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

80} 60aneEd (qflny @ealon o.010lo allgyeniad ‘m’ @oqialgjodh 100kg pwdmmon
a¥le. o0l allgpemad @em aoqy ‘m’ daddeflesndsns’ uelw oligerlad
oo 4 aserd cudallaflaniswio, aldle allgpemlede 4 ased ®i0WanB@o
6o10imomd, @owlm kg swdemoid avlwo.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Range

Text Areas : PlainText
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Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819115808 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

" n

ik

An inclined plane is bent in such a way that the vertical cross-section is given h}-‘ y = T

where y is in vertical and x in horizontal direction. If the upper surface of this curved plane
is rough with coefficient of friction p=0.5, the maximum height in cm at which a stationary
block will not slip downward is cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819115808 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

u X
80) 2Alemn (UOROTIN Eofml cadsmElo y =0 ERHEMENUWo  Q(db®

mad sl llan)my. eomla y eosualie x @lovalmaeow Gludaoem. MY ol
limaeian ojsid saldmelo cldayem mdeogo i=0.5 988 Ao Om@IV®EMEBIT,
MR 80} &3 MIELWH HmMilce onoam mldenim aoadadl g@ro
cm @6,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :
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5 to 5.001

Question Number : 26 Question Id : 70819115809 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A resonance circuil having inductance and resistance 2 104 H and 6.28 () respectivel}-'
oscillates at 10 MHz frequency. The value of quality factor of this resonator is

[7=3.14]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819115809 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

enadaESadI0, (Illenownljo @Lndeao 2 x 10-4H, 6.28 () agrmiowes 60} @MMA
mddsyg 10 MHz @paljeiafed eaoaimoe 6.01Qum) 9 @RMMIBHETON dblogld]
anddpslon aflel  @oem.

m=3.14]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819115810 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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An audio signal v, =20 sin 27(1500t) amplitude modulates a carrier
v, =80 sin 27(100,000t).

The value of percent modulation is ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819115810 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
vy, =20 sin 2m(15001) @M 988 aw) tenle mivima

v =80 sin 2m(100,000t). ag)0m B0} QUOOH BACWNET CDOLIEEIT H.2IQRNN] ®DOM
caoML)cRladaR allei@os

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819115811 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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In connection with the circuit drawn below, the value of current flowing through 2 kf}
resistor is LA

]
2 k0 -
| N

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819115811 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

aljaies emildleam mndapgieon] simbaas, 2 kQ aaenwandlelps &9)dhm
OOUAY® (aludano @ey __ x107% A,

AN
1k}

-
2K gy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001
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Question Number : 29 Question Id : 70819115812 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 5 GHz, is travelling in a medium whose relative electric
permittivity and relative magnetic permeability both are 2. Its velocity in this medium is
%107 m/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819115812 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

eocaldlls oausy® eaubdglaldiele, meusds domis oauddomislgioo
2 muiiges &o) mowamileyes 5 GHz apalemi 988 60} 66a® &t ®mooto
meridkenymy. 00 mowiarnilad eedflon ieunago  x107 m/s o @pem,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819115813 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A common transistor radio set requires 12 V (D.C.) for its operation. The D.C. source is
constructed by using a transformer and a rectifier circuit, which are operated at 220 V
(A.C.) on standard domestic A.C. supply. The number of turns of secondary coil are 24, then
the number of turns of primary are

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819115813 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

&0 muowarem samdailgd soallewo arvdlm iad@ulencm 12V (e, mil.) epaiwmoen.
220 V. avowaesm modadlds ag).mdl. eromqiiad icuidmileaim ae) sommiganodac),
00&Slan@d de)go aleworilajoem o1 allmd. eronqy emeossldkes mae!
ananRdl 2gIBRIes afife 24 @emEl® ealuacldloa 2lgieaINs ageno
_______ __ @Dam.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
SectionId : 708191594
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

:
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Section Marks : 80

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 708191874
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819115814 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following are isostructural pairs ?
A. 50,2~ and CrO,?

B.  5iCly and TiCl,

C. NH;and NO,

D. BCl; and Br(Cl,

Options :

70819152591, “+ and B only

7081915259, ** and C only

70819152593, © and Conly

708191525094, © and D only

Question Number : 31 Question Id : 70819115814 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@O e1h0S)aTldlenMauaiad macsismwies cRoWldd af® ?
A, 504 po GO2 o

B. SiCl; o TiCl, &0

C. NH, go NO,~ 8o
D. BClL, o BCL §o

Options : gcollegedunias



70819152591,  @lo B @jo @mo(®o

70819152592, * @0 € @jo @o®o

70819152593, B @ie C @jo mo|®mo

70819152594, © @o D @jo mo|mo

Question Number : 32 Question Id : 70819115815 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm, slope of AB line is :

B

! f}/

|

logP ——

Options :

n with (n, 0.1 to 0.5)
70819152595.

20819152596, 108 n with (n > 1)

Ingl with (n < 1)
70819152597. B

" - i §F N\
L with | 1 =0to1
\ I

70819152598, 1 /

Question Number : 32 Question Id : 70819115815 Question Type : MCQ Op gco”egeduniag
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6landmdwellatf @rUlerdatem Hag)emacmo aldlnerlalom, AB coalwiens G oal
ag)mmoem’ ?

B

T A/.

logP ——

Options :

70819152595, ™ with (n, 0.1 to 0.5)

70819152596, 108 n with (n >1)

Ingl with (n < 1)
70819152597. .

l “riﬂ~| | e D to1l |
1 \ I F,

=

70819152598.

Question Number : 33 Question Id : 70819115816 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the elements Mg, AL S, P and Sj, the correct increasing order of their first ionization
enthalpy is :

Options :

70819152599, Al <Mg<Si<S<P

70819152600, Mg < Al <Si<P<S

70819152601, MB<Al<A <5<P »
collegedunia:



70819152602, Al <Mg<S<Si<P

Question Number : 33 Question Id : 70819115816 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Mg, AL S, P, Si agyml ayeldemid aldlmeneeemion, @reimins 8Mmoo @HReseMematmd
ag)d@otha s dleow @REEI0MIdka af®os ?

Options :

70819152599, Al<Mg<Si<S<P

70819152600, Mg <Al <Si<P<S

20819152601, M8 <Al<Si<S<P

70819152602, Al <Mg<S<Si<P

Question Number : 34 Question Id : 70819115817 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following ore is concentrated using group 1 cyanide salt ?
Options :

70819152603, Calamine

70819152604. Malachite

70819152605, ~iderite

Sphalerite
70819152606. gcollegedunias



Question Number : 34 Question Id : 70819115817 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®269 ®ldlanym eealoisEd ap®moem’ 80} 8mdo (ja] MEeHMA BlIMo
onle@ocd af modledlanocjm ?

Options:
70819152603, $Helodid

70819152604, ZOEIO0E0OR

70819152605, TIAWOOOF

70819152606, T VAO0EIOOOH

Question Number : 35 Question Id : 70819115818 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) I—I‘C)ft'_"I+I-IED2 —3 HHD | +D'2
B) L,+H,0,+20H =21 +2H,0+ 0O,
Choose the correct option.

Options :

70819152607 H,0, acts as oxidising agent in equations (A) and (B).

70819152608 H,0, acts as reducing agent in equations (A) and (B).

20819152609. H,0, act as oxidizing and reducing agent respectively in equations (A) and (B).

20819152610. HBCI2 acls as reducing and oxidiamg agent rr_-spectivel}-' in equatior- *** -

:
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Question Number : 35 Question Id : 70819115818 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) HOCI+H,0, - HO*+Cl~ +O,
®) L+H,0,+20H—-2I~ +2H,0+0,
ORI HEMDO af® ?

Options :

70819152607, V@O0 (A) aileye (B) @leye H,0O, sosmiaodlwon cud@mileniom.

20819152608, MAOUOH0 (A) @flelo (B) @leljo H,0, mlerodsmileodleoe] cudmmsileninm,.

maadjo (A) @lelo (B) @laie H,0, @Lndiddo e0dsmilaodim)o rilendsmilaodie)o
70819152609, #0U AUbETEO0M,

maaddo (A) @lelje (B) @llelje H,O,@Lnoidhto tilenddsmilaodmyo soamilaodelo
70819152610, @Y OME)M,

Question Number : 36 Question Id : 70819115819 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1203 was leached with alkali to get X. The solution of X on passing of gas Y, forms Z.
X, Y and Z respectively are :
Options :

70819152611, ~— NalAlOH),], Y=50,, Z=Al,0,

70819152612, = AlOH);, Y=50,, Z=Al,050H,0

70819152613, <= AllOH),, Y=CO, Z=AlL0;

X=Na[Al(OH),], Y =CO,, Z=Al,0..a2H,0
70819152614. alA(OH),] 2 ,030Hy

:
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Question Number : 36 Question Id : 70819115819 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL O, @oabs9el oaleworiaf ell of Halwimeaod X eidlay. X o evwdmialeyss Y agm
U@k dhsmfiligenlod, Z aida) XY, Z agmilal @Lodiddo ag)nmoadawos ?

Options:

20819152611, <= NalAlOH)], Y=50, Z=AL0,

70819152612, X =AlOH);, Y=50, Z=AL0;2H,0

70819152613, ~= AlOH)3, Y=CO, Z=Al0,

X=Na[Al(OH),], Y =CO,, Z=Al,0..a2H,0
70819152614. a[A(OH),] 2 203xHy

Question Number : 37 Question Id : 70819115820 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The electrode potential of M2+ /M of 3d-series elements shows positive value for :
Options :

70819152615, Fe

70819152616, €O

70819152617, 21

70819152618, Cu
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Question Number : 37 Question Id : 70819115820 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3d erdlelony aeldnsvasldd M2* /M eneldse(sonl ealtogidayd ajelo, salomiglal eow s
ap@lm ?

Options:

70819152615, Fe

70819152616, CO

70819152617, 2™

70819152618, Cu

Question Number : 38 Question Id : 70819115821 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components in “Gun Metal” are :
Options :

70819152619, Cu, Sn and Zn
70819152620, Cu, Zn and Ni

70819152621, Cu, Niand Fe

70819152622, 1 €1, Mg and Mn

Question Number : 38 Question Id : 70819115821 Question Type : MCQ Option Shuffling : Yes

:
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Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Hiend eagell’ el lwom eaISHETEG ag)enmg)do ?
Options :

70819152619, Cu-Sn ©o Zn

70819152620, 4 £n @o Ni

70819152621, U Ni 8o Fe

70819152622, ‘I Cu, Mg 9o Mn

Question Number : 39 Question Id : 70819115822 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The gas released during anaerobic degradation of vegetation may lead to :
Options:

70819152623, Acid rain

70819152624. Global warming and cancer

70819152625. Corrosion of metals

70819152626, ©zone hole

Question Number : 39 Question Id : 70819115822 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
mmyemodlaglos @l allaismesld aljoemiueim Ao agfmilm)

&H006MMO)MN) 7
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Options :

70819152623, @Ml @y

70819152624, TOEUNI8MOaIMo, dhoadrd

20819152625, CE0a06mBE0S Ballenad

70819152626, B0V alsaleal coro

Question Number : 40 Question Id : 70819115823 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound gives pink colour on reaction with phthalic anhydride in

conc. H2804 followed b}-’ treatment with NaOH ?

HO

Options :

70819152627

70819152628

70819152629

70819152630

"Hj

HyC :@i\/
HO OH
”D:J@[\/
HO CHs

CH,

CH,
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Question Number : 40 Question Id : 70819115823 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

conc. HyS0, @ moellas aemena0en|ww)a] (aiaidemla]l.ajlmiemato, NaOH
c.ldan)emuomi alle afloo mame moay eamlden Mo afm) mowamas ?

HO
_ OH

Options :

70819152627

70819152628
H;C :@i\/ CHj
70819152629, 11C OH
HO CH,
oCT
70819152630, O CH;

Question Number : 41 Question Id : 70819115824 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

CH CH
NN n,
CH,

What is the major product formed by HI on reaction with
CH;

Options:

70819152631. .
gcollegedunlas



CH,

CH;—C—C CH,I

CH; H

CH, T CH—CH,
I

CH,
70819152632. :
CH,
CH;—C—CH—CHj
70819152633, CH; 1
CH, CH CH CH,— CH,4
70819152634, - I

Question Number : 41 Question Id : 70819115824 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH CH
TN l agym mom)emo HI @mowf]l  (cub@rll.oyensodim (aiwom

-
cH,” |
CH,
£@a|mMo g’ ?
Options :
CH,
CH;—C—C CH,1

70819152631, SR

:
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CH, T CH—CH,
I

CH,
70819152632 ‘
CH,
CH,—C—CH——CHjs
70819152633 CH; 1
CH; — CH — CH— CH,— CH,
70819152634, - I

Question Number : 42 Question Id : 70819115825 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following reagent is used for the following reaction ?
7

CH;CH,CHy —— CH;CH,CHO

Options:

70819152635, Copper at high temperature and pressure

70819152636. Molybdenum oxide

70819152637. Manganese acetate

Potassium permanganate
70819152638.

collegedunia:

India’s largest Student Review Platform

Question Number : 42 Question Id : 70819115825 Question Type : MCQ Op g



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

? ” "
CH3CH,CHy; — CH3CH,CHO gnailod’ oale@ocdlaanimm dlewed agmosm ?

Options :

70819152635.

70819152636.

70819152637.

70819152638.

edhOa|d, OWBM moaldflaidiele adgewialo

emodleniauime eodeaIUa

moocnmilony’ Gelyiala)

6010500 HaldddowIemy

Question Number : 43 Question Id : 70819115826 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pmduct formed in the first step of the reaction of

CH; —CH,—CH—CH, —CH—CHj with excess Mg/Et,O(Et=C,H) is :

Options :

70819152639.

70819152640.

70819152641.

Br
|

|
Br

CH;—CH,—CH—CH,—CH—CHj

CH;—CH—CH,—CH—CH,—CH;,

CH
cus” | ?
T
CH— CHj,

CH,

CI—I3—CI—12—C|I—I—CH2—C|I—I—CH3

CH,;—CH,— CH— CH,— CH— CH,

:
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MgBr
|

CH3CHy— CH—CH,—CH— CH,
|

70819152642, MgBr

Question Number : 43 Question Id : 70819115826 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Br
|
CH; —CH,—CH—CH, —CH—CH; &m Mg/EtLO(Et=C,H:) @O @mﬁam’l@g&mﬁ,
|
Br

@R3jISlow)l HENBIHIM HFa Mo ag)ms ?

Options :

CH;—CH,—CH—CH,—CH—CHj

CHa— CH—CHy—CH—CH,—CH
70819152639. 3 2 2 3
CH,

cr—cn |
70819152640. CH— CHy

CH3— CH,—CH—CH,— CH— CH,

CH; — CH,— CH— CH,— CH— CHj,
70819152641. & ~

E-'IgBr
|
CH,CH,— CH—CH,— CH—CHj
|

70819152642. MgBr

Question Number : 44 Question Id : 70819115827 Question Type : MCQ Op gcollegedunias
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the final product (major) “A’ in the given reaction ?

OH
CH,
CH
s [, _Ha 5
(major product)
Options:
Cl
CH,
CH
\"“CHB
70819152643.
CH,
CH=CH,
70819152644.
CHj;
CH
\““CH3
70819152645.
CH;
Cl
CH,—CHy
70819152646.

Question Number : 44 Question Id : 70819115827 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gcollegedunias



600 M IIBEMMEE @AITIMo HENEIHIM (AWM Halmo ‘A" ag)mmosny ?

OH
CHj,4
CH\\ _
(major product)
Options :
Cl
CH,
CH
\"‘CHB
70819152643.
CH,
CH=—=CH,
70819152644.
CH,;
CH
\““CI—I3
70819152645.
CH,
Cl
CH,—CHyj
70819152646.

Question Number : 45 Question Id : 70819115828 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

:
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Identify products A and B.

CH,

O
I

ﬂ/ Y KMnO, CrO;
273 K > A > B
Options :
CH; CH;3
A OH B:
70819152647, OH O
CHs CH,
A OH B: OH
70819152648. OH O
CH; CH,4
Y™ Y
70819152649. OH O
0
[
A = OHC —CH.CH,CH;—C-—CH: B HODC-—CH,CH:CH,—C—CH
70819152650. ek 3 2CH,CHy 3

Question Number : 45 Question Id : 70819115828 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
8 da jmeusensd A, B agyailal ag)omosny’ ?

CH;
@/ dil. KMnO, & CrO, .
BK ;
Options:
CH, CH,
A OH B:
70819152647, OH O

:
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CH, CH,

A OH B: OH
70819152648. OH O
CH; CH,4
A B
70819152649. OH O
O 0
[ I
A+ OHC = CHAH.CH, —C-—CHy B=HOOC-—CH.CH:.CH, —C —CH
70819152650. e 3 2CHyCH, 3

Question Number : 46 Question Id : 70819115829 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the [ ollnwmg reaction the reason wh}-' miela-nitro product also formed is :

NH, NH, NH, NH,
3 NO,
Cone. HNO,
T e i
Conc. H,50,, 288 K
NO,
NGO,
[A] [B] [C]
51% 47% 2%
Options :
70819152651 — I\]H?_ group is highly mela-directive
— NO, substitution always takes place at meta-position
70819152652. e &

70819152653. Formation of anilinium ion

low temperature
70819152654.

:
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Question Number : 46 Question Id : 70819115829 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®06¢ @mldanim eomiaudemnema, £250-66MeSd OMalMo dkisl MEIHIMER

dh0Memo.
NH, NH, NH, NH,
NO,
Conc. HNO,
Cone. H,80,, 288K * ¥
NO,

NO,
[A] [B] [C]
51% 47% 2%

Options :

20819152651, — NHa @l voemmod] £220-W@OSIES eoen)

70819152652 -NO, mmfg;ﬁggn&m% ag)Eajo¥io EDHO—OIME MSHNIOM].

70819152653 @orilellrilwoe @re@osnd ©en2od:im)

70819152654, ®P¥M ©Vari@OAT

Question Number : 47 Question Id : 70819115830 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘A’ and ‘B’ in the following reactions are :

NH,

NaNO, /HC1 (A) SnCl,/HCl/H,0"
_
KCN

w
—

==
p—

Options : gcollegeduniaa



»Cl Cl
(A}[:i:l (B}:[:i:]

70819152655.

+ _

N,Cl CHO
70819152656.

CN Cl
70819152657.

CN CHO

“Q 0

Question Number : 47 Question Id : 70819115830 Question Type : MCQ Option Shuffling : Yes

70819152658.

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
®06)¥® M BIBlen)m eomiacudEmmMETlE ‘A’, B agomict agymmoeny ?

NH,

NaNO,/HCl 5nCl,/HCl/ H,0*
> (A)
KCN

e
Lil

Options :

+ -~
N,Cl Cl

(A): (B) :

70819152655, g collegedunias



N,Cl CHO
(A): (B)
70819152656.
CN )
(A): (B) :
70819152657.
CN CHO
(A): (B):
70819152658.

Question Number : 48 Question Id : 70819115831 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List 1 with List 1I.

List 1 List 11
(Monomer Unit) (Polymer)
(a) Caprolactum (i)  Natural rubber
(b) 2-Chloro-1,3-butadiene (i) Buna-N
(c) Isoprene (i) Nylon 6
(d) Acrylonitrile (iv) Neoprene

Choose the correct answer from the options given below :
Options :

70819152650, @) = (), (b) = (ii), () — (iii), (d) — (iv)

70819152660. (@) — (iv), (b) — (iii), (c) — (ii), (d) — (i)

70819152661, @) = (i), (b) = (i), (c) — (iv), (d) — (iii)

:
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70819152662, @) = (iii), (b) = (iv), (c) = (i), (d) — (ii)

Question Number : 48 Question Id : 70819115831 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CaimjonlSl CIBE6)]d:.

List 1 List 11

(Monomer Unit) (Polymer)
(a) EHOGAIOBIOESO ()  day@leom osd
(b) 2-egocno-1,3-enlygocb@ilad(ii)  enlyiem-N
(c) &agemondim (iii) eemeeend 6
(d) eoeemhead eamesst (iv) olewolldd
@6y madeladenmaiadd ailimie dlwow SEMDo HMOEETINS JHE))db.
Options :
20819152659, @ = @), (b) = (i), (¢) — (i), (d) — (iv)

20819152660, @ — (@), (b) — (iii), (€) — (i), (d) — (i)

70819152661, @) = (i), (b) —= (1), () — (i), (d) — (iii)

70819152662, (@) — (iii), (b) = (iv), (c) — (i), (d) — (ii)

Question Number : 49 Question Id : 70819115832 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Out of the following, which type of interaction is responsible for the stabilisation of a-helix
structure of proteins ?

Options :
70819152663. vander Waals forces

:
gcollegedunlag
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70819152664, Covalent bonding

70819152665. lonic bonding

70819152666, Hiydrogen bonding

Question Number : 49 Question Id : 70819115832 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®06¢ ®ildlenmaiiad, ealodmisales a-fanelldm seismaw watflaalsimmimmaein
SHIOEMDIW® afy® ?

Options :
70819152663, (UomdawdaIotd enielo

70819152664, G0CU0RIAY enimumMo

70819152665, @0EWIsTld: enimbmo

70819152666, 99a0(WERM enIMLMo

Question Number : 50 Question Id : 70819115833 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  Colourless cupric metaborate is reduced to cuprous metaborate in a luminous
flame.

Statement 11 : Cupmus metaborate is obtained h}-‘ heatmg boric an]u,-‘drido and copper
sulphate in a non-luminous flame.

In the light of the above statements, choose the most appropriate answer from the options
given below.

Options :

:
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70819152667 Both Statement I and Statement Il are true

70819152668 Both Statement I and Statement 11 are false

70819152660. Statement 1 is true but Statement 1I is false

70819152670. Statement 1 is false but Statement Il is true

Question Number : 50 Question Id : 70819115833 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ldM@OCUMBLGD (BEAUlE .

(mocum I @ aflodlgoem &yelle” eagoceussog eljalmm’ goeiid
Aizmodmildnemo moeall.a] & lmn aagoceniocog @l oy

(dimocum 11 @ eeniodles @O0 EHdald mBEanglo coldon
smoend-eldlnm goeidiad aisossiieond epaim eagoemiocog
BlElee Jo.

lndmimocLee846)0la), moay mmHndlcd niwiw some ag® ?

Options :
70819152667, l@aaum I 11 agirrial codleosm

70819152668, HM@I® 1, Il agyamial emgoem

70819152669. ([doo@ocum | mm’l@p 11 6} LMOEIT)

20819152670, M@cum I omglo 11 tedlwmosny

Chemistry Section B
Section Id : 708191595

:
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Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191875
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819115834 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4.5 g of compound A (MW=90) was used to make 250 mL of its aqueous solution. The
molarity of the solution in M is xx 10 | The valueofxis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819115834 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

45 g mom)amo A (MW=90) alewocile] 250 mL geiendiol]l 9emsoss]. o enwriwes
omogoalgl xx10~ ! M mpeemaxlad, x o@ afla __  @pem. (6mIgsSiem
aljdemavosy)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes gcollegedunias



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819115835 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coordination number of an atom in a body-centered cubic structure is ___

[Assume that the lattice is made up of atoms.|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819115835 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

senuoadfl eaveddal ayenllas alumodlesa 8o} eppEleM emodaullematd mos)
__________ @Rem.
[englmy penzodsilaldanimae eanemid adenzonemm afl alodlead. |

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819115836 Question Type : SA

:
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Correct Marks : 4 Wrong Marks : 0

A proton and a Li®* nucleus are accelerated by the same potential. If A;; and A, denote the
_ : : N
de Broglie wavelengths of Li*t and proton respectively, then the value of 2L s xx1071
'}\P
The value of x is . (Rounded off to the nearest integer)

[Mass of Li** =8.3 mass of proton]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819115836 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

&0} elatoegoend, Lid * mygloms agmilcune eeo aanlogmaym palewouila) aaemilaecog

oigflaflaf. Ay A, agrriod DU hido Li**, eltoegoem agmicumies all eenios

A

®0oeerdelmd eoeemesH, es aflel xx107! epesmeld, x o alle

A
p
__ ®oem. (emogsiem aljbemavosy)
[Li* *oa} momi=8.3 efaloegoeniean momi]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819115837 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

:
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For the reaction A, — By, the value of the equilibrium constant at 300 K and 1 atm is equal
to 100.0. The value of f_\r for the reaction at 300 K and 1 atm in | mol lis — 1R, where 1 is
. (Rounded off to the nearest integer)

[R=8.31] mol 'K~ ! and In 10=2.3)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819115837 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

300 K, 1 atm aJ@l@onud] ol e A () 7B(,) ag)m (lcudemmanian oallelmloo
cudl®0e:0100.0 @Ren. 89 lalcudammenean A,G aflel 300K, 1 atm aldlmmdleiold - 1R
eoOMEIE, x 6 alle J mol~! mpem). (6magsiem aydemmvosy)

[R=831] mol 'K~! and In 10=2.3)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115838 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 9.45 g of CICH,COOH is added to 500 mL of water, its freezing point drops by (.5°C.
The dissociation constant of CICH,COOH is x X 10 3 Thevalueof xis____ {Rounded
off to the nearest integer)

Response Type : Numeric )
collegedunia:



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115838 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

945 g CICH,COOH 500 mL. geieflad eldflaflajeajold @oallod aumosomlad 0.5°C -6
®0¥ o w)smeonfl. CICH,COOH -6 allemomiieaud cudloogo x x 10~ @peemeid, x

o ale . (6m3gs)em aljdemmiosy)
[KﬂHEU}: 1.86 K kg mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819115839 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

At1990 K and T atm pressure, there are equal number of Cl, molecules and Cl atoms in the
reaction mixture. The value of K]} for the reaction C Iz( . I(E} under the above conditions
is x X 10~ 1, The value of x is . (Rounded ch]f to the nearest integer)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers : gcollegedunias



5 to 5.001

Question Number : 56 Question Id : 70819115839 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1990 K guatimoneljo 1 atm adgoniele 988 00 Clyg = 2C, laautommaniiad mye)

ag)émo Cl, daa@dglo Cl @pQeBale Do, rsmm‘ﬁgjomi"}m aldlondalola v
lcldemmaiied K, @305 allel xx10~" epeenald, v o aflar @Rem.
(A®MISSIAM al)bemmios))

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819115840 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of sulphur in alkaline medium is given below :
The valuesof ‘a”"is . (Integer answer)

2 2
—> b5 aq) T 505" (ug)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819115840 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

:
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EDMHOOOLITD MW} DOV @D mxﬁmﬁﬁls}r@ 80} A0MUA@MMo IO M8,
‘a’ Wes mpelo ag)® ? (&EMEo mgﬁaamm:uosuémmm“)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819115841 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Gaseous cyclobutene isomerizes to butadiene in a first order process which has a 'k’ value of
3.3x10 ) s ~lat 153°C. The time in minutes it takes for the isomerization to proceed 40% to
completion at this temperature is . (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819115841 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

neMEgkmgmd aomdo 153°C 9admoalldd 80} aogy eodwd (wi@lwalens

eag)emoannom aoidie euysowdld epamimalad K el 33x1071 s ™! @pen.

0 9V 0oall@ eafemoassnemadm 40% aljdemleod)mailm) ease Mmoo
dloflg @oen). (9@meo H®OgS)EM alben MA@ OV6ME Bl 6010

@D o). )

Response Type : Numeric

Evaluation Required For SA : Yes gcollegeduniag



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819115842 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Number of amphoteric compounds among the followingis
(A) BeO (B) BaO (C) Be(OH), (D) Sr(OH),
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819115842 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

®96¢ H0S|MdleniMUOI® Eocw0IgHke MW HMTBRINS ag)fio __ @DEM.
(A) BeO (B) BaO (C) Be(OH), (D) Sr(OH),

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

:
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Question Number : 60 Question Id : 70819115843 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The stepwise formation of [Cu(NH,) 4]2 " is given below :

Cu? + NH; == [Cu(NH,)**

. - A4 Ks s +
[Cu(NH;)]™" + NH; == [Lu(NH;;lzJE

. o K- -
[Cu(NHy )| + NHy == [‘C“{NHJJLSJE

| pt 24 K . T4
[{_u(NH;g];gJ + NHj = [{—U{NHJ J-iJ

The value of stability constants K, K,, K, and K are 104, 1.58 x10%, 5x10% and 102
respectively. The overall equilibrium constants for dissociation of [Cu(NH,) 4]2* isxx10-12,
The value of x is (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819115843 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

:
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[Cu(NH,),]** ®06¢ soenflafden)m ealosel alSaisl@ow] 9ameod i),

i K "
Cu® + NH; == [Cu(NH;)

[CU{NH;!JJZ* + NH; —2 [CU{NHL!)EF

K3

|Cu(NH, 32]2* + NH;

. : : i
[CU{NH;SJ;%JE - NHy —2= lCU(NHLS]&JE

agg;mﬂﬂ?gﬂ cudleomseao® K, K, Ky, K, agmilcuimies ajelje @nldme 104, 1.58 x 10°,
? agymlsmamaoem’. [Cu(NH;),]** e allewommader eped oayelmioo
@yem. (HmMISSIOD

5% 10, 10

mudloomo xx10~ 12 @pesmmld, 1 o@ o)eyo

aljdemaosy)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

[Cu(NHy), [**

Mathematics Section A

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :
Mark As Answered Required? :
Sub-Section Number :

Sub-Section Id :

708191596
5

Online
Mandatory
20

20

80

Yes

1
708191876

:
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819115844 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
X

Let f: R — R be defined as f(x)=2x-1and g: R — {I} — R be defined as g(x) =
) ' x=

ra3 | =

Then the composition function f(g(x)) is :

Options :

70819152681, ©ne-one but not onto

70819152682, onto but not one-one

70819152683 neither one-one nor onto

70819152684 both one-one and onto

Question Number : 61 Question Id : 70819115844 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=
3 | —

f:R = Ragme f(x)=2x-1agmlo g: R ~ {1} = R agyma g(x)=

ag)mio

il
dldclaflafldenim 2 anedaumidacem. ag)@lmd, eaocmiomilatm anedarmd f(g(x))
)@ :
Options :

20819152681, CUed-CLeNd @D, ale)dH 606ND S) @Rg)

20819152682, 06N S} @M aleddh CLeND-CLeD @g)

70819152683, CHEM-CUEMD @YY, B0ATD S} @Ry gw"eged”ma



70819152684, CL6Md-QEMD @EM, 606 S} EOEN

Question Number : 62 Question Id : 70819115845 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let p and q be two positive numbers such that p + q=2 and p*+q*=272 Then p and qare
roots of the equation :
Options :

5.4 i o
70819152685, ¥~ 2x +136=0

3 . L.
70819152686, * X 116=0

2 ; £
70819152687, ¥ 2x18=0

2 D T —
70819152688, ¥ X 12=0

Question Number : 62 Question Id : 70819115845 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

p+q=2 p*+q* =272 @pdn)m eeng @eulmoaieaoen p, q agiial. ag@lad p, q agoma
‘05N @RICLEIM MACIddHo:

Options:

5.4 i o
70819152685, ¥~ 2x +136=0

iy . S
70819152686, * X 116=0

L -
70819152687 ¥ X +8=0 .
collegedunia:



2 T LD —
70819152688, * X 12=0

Question Number : 63 Question Id : 70819115846 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The system of linear equations
3x—2y—kz=10
2x —4y—2z=6
x+2y—z=50m

is inconsistent if :

Options :

S TS

708191526809.

k=3 m=
70819152690.

S T

k=3 m=#
70819152691.

0| He

- s
70819152692, & * % meR

Question Number : 63 Question Id : 70819115846 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3x—2y—kz=10

2x —4y—2z=6

x+2y—z=>0m

ag)l ceall@ qumaIodsBG ‘e @memdamilgudd ' @eaM@

:
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Options :

708191526809.

70819152690.

k=3m*
70819152691.

U] e

+ 3
70819152692, < = & meR

Question Number : 64 Question Id : 70819115847 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of
15{:1 | 2'15{:2 3'15{:3 o 15'15{:15 f HC] f MC} f 14{:5 e o 14':11 iS:
Options:
~16 1
70819152693, <

70819152694, 27 14

70819152695, 2~ 13

~14
70819152696. -~

Question Number : 64 Question Id : 70819115847 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 )
collegedunia:



agmMailend mieno :
Options :

70819152693, 21

70819152694, 217~ 14

70819152695, 2~ 13

~14
70819152696. =~

Question Number : 65 Question Id : 70819115848 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ = ‘ ;
|l'{!‘.‘i_.‘£+f1'.‘:'i4:+l.";5ﬁ' x+.. “,Ilﬂ-!"ri‘ﬁ

f e ~satisfies the equation t2-9t+8=0, then the value of

2sinyx T .
e T U{I{— 18 :
sinx+ «3cosx

Options :

M| =

70819152697.

70819152698. V3

Mo

70819152699.

%;_

70819152700.

Question Number : 65 Question Id : 70819115848 Question Type : MCQ Op gco”egeduniag

India’s largest Student Review Platform



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

( # 4 ' \
lcu.ﬂa'xh‘:sﬁ rhoms xt..o|log, 2

e ag)M@ -9t +8=0 ) MBI HBOANIBRIM). af)wHldd,

2sinx

(0 <x< é] ag)mafladd mjelo :

sinx+ 3 cosx

Options :

h | =

70819152697.

70819152698. V3

k| L

70819152699.

E;'

70819152700.

Question Number : 66 Question Id : 70819115849 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lj [mw"t-] dt

- 0 .
lim —————— isequal to:
x—0 x

Options :

W N

70819152701.

|~J|=,.4'

70819152702.

1
70819152703, 15

:
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70819152704,

Question Number : 66 Question Id : 70819115849 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aj [:.‘-,in\"';] dt

- [1] L
-lilil;lj . ag)omnm :
Options :
2
70819152701. 3
3
;
70819152702, <

1
70819152703. 12

70819152704. L

Question Number : 67 Question Id : 70819115850 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 2
4x 3
The function f(x)= Tl 2ginx+ (2x— 1) cosx :
Options :
1
mncreases i s %
70819152705. =2

:
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1
decreases in [E "‘3J
70819152706.

1
Increases in ( oo, ;}
70819152707. E

1
decreases in ( ey E}
70819152708.

Question Number : 67 Question Id : 70819115850 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A B
f(x) = il 2sinx + (2r— 1) cosx af)n aneSaHd :

Options :

.1

2’ NJ ag)m ensecuslad enabigsimilend @mend

70819152705. {

1

5 MJ ag)mn snsecug@iad allglmilsns” @pem’

70819152706. |:

1
[ oo, ;} ag)m ensecuadilad snadiglmilens @mem
70819152707. -

1
70819152708 [ ﬂ ag)™ gnseug@iad allielmilss @er

Question Number : 68 Question Id : 70819115851 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 gcollegedunias



A scientific committee is to be formed from 6 Indians and 8 foreigners, which includes at
least 2 Indians and double the number of foreigners as Indians. Then the number of ways,

the committee can be formed, is:
Options:
70819152709, 1050

70819152710, 1022

411

70819152711, 260

70819152712, 375

Question Number : 68 Question Id : 70819115851 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6 onmpee0diad ey 8 afleardiedld dmiaod ajlladanm womimdadold

IO 2 HMPENI0, WEONMMSIENNAISIM BHNMPENIMOS afepR@TIOR mog!
alleardlaglo ealemo. agElad, sadlgl ojafladlsaymalmies aodyeBains ageno
af)mm

Options :

70819152709, 1030

70819152710, 1623

70819152711, 260

70819152712, 375

Question Number : 69 Question Id : 70819115852 Question Type : MCQ Option Shuffling : Yes

:
gcollegedunlag
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Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Iff:R — Ris a function defined by f(x)=[x 1] cos[ & 11’:7 , where [] denotes the greatest

integer function, then f1is :

Options :

70819152713, discontinuous only at x=1

70819152714. discontinuous at all integral values of x except at x=1

70819152715, continuous only at x=1

continuous for every real x
70819152716. =

Question Number : 69 Question Id : 70819115852 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2x-1

f:R = R agm anedadd f(x)=[x-1] cos( }.— ag)m mldcuafl afl@lanym).
@@ [-] agrme s@dm aljdem aneBaxmosn. ag@sld, fagome :

Options:
70819152713, X¥=1-@ @mo@o allmidenglmycim @men.

70819152714, *= 1 SIOE98 oG x o aldem ajayemdae allmiamelnyain @pen.

70819152715, ¥=1 @ BO®o HENEMPQITY @M.

70819152716, “OER coallo Moy x-mjo denElmyaimy @pen.

Question Number : 70 Question Id : 70819115853 Question Type : MCQ Op @collegeduma



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 3 " f s P T
. fCOSX — SInX . 1] sinx+ cosx 7 : Z
[f —’—_dx = asin IJ —— " | + ¢, where c is a constant of integration, then
V8 - sin 2x b )

the ordered pair (a, b) is equal to :
Options:

70819152717, & 1)

70819152718, (1 3)

70819152719, (1. 3)

'.1
70819152720. L

Question Number : 70 Question Id : 70819115853 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0sX — sinx . _1(sinx+ cosx)
——dx = asin 1

_ — " l+¢, @U@ (¢ agm@’ G |(NaHe
m \ B J \ “@ @@ @
cudloalteaoem ) (a, b) ag)m uoslld e&os] agyma :

Options:

70819152717, & 1)
70819152718, (1 3)

70819152719, (1. 3)

'.1
70819152720. L
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Question Number : 71 Question Id : 70819115854 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the part of the circle 2+ yzz?rb', which is outside the parabola

yz =0y, i5 :

Options :

70819152721, 247 + 343
70819152722, 24™ — 343

70819152723, 127 + 343

21 "rﬁ

(51

70819152724.

Question Number : 71 Question Id : 70819115854 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

24+y2=36 a)Mm QyEmQUlo, y2=9% af)M alICMUOBW)o dbjS|E.al0)EMIIM,
Al®IEMNNRWIHS allOMmER alyemeonemiien alvalgal (aim). wenlg) agmma :

Options :

70819152721, 247 + 333

70819152722, 24 — 33

70819152723, 127 + 33

21 "rﬁ

[

70819152724.
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Question Number : 72 Question Id : 70819115855 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The population P=P(t) at time t’ of a certain species follows the differential equation

dpP
H;:MP 450. 1f P(0) =850, then the time at which population becomes zero is :

Options :

loo 9
70819152725. Be

1
;{ogFlS
70819152726. ~

log 18
70819152727. Be

2log 18
70819152728. '

Question Number : 72 Question Id : 70819115855 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i dP
‘' agym moen 6o} ®eo ‘dalldfloy’ 6@ agepe P=P(t) agoma) 5 0.5P — 450.

ag)™ Wla0OMaly® VBRI WBOSNBRIM) P(0)=850 @WIM, aggho agma
Ll )28\ 0010 (Ao

Options :

loo 9
70819152725. Be

1
;If}gflﬁ
70819152726. ~

log 18
70819152727. Be
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ZIGBF 18
70819152728. :

Question Number : 73 Question Id : 70819115856 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man is walking on a straight line. The arithmetic mean of the reciprocals of the intercepts

1
of this line on the coordinate axes is 1 Three stones A, B and C are placed at the points

(I, 1), (2, 2) and (4, 4) respectively. Then which of these stones is/are on the path of the

man ?
Options :
70819152729, “* only

70819152730, © 0Ly

C only
70819152731. §

70819152732, All the three

Question Number : 73 Question Id : 70819115856 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} amjaxy® endersuiad memidkenym). e eoa ruLokh @oduaEaEcd Hmdemaly
A \

oaigpmailon apdeameaes weond o @em. ajmy dgiad A, B, C agaria

(1, 1), (2, 2), (4, 4) agyerd]l cunomemegl® @LNohmo HAILOYM). ag)Eldd @R mm)ayed
eI 988 dhel/ el ape®mads

Options :

70819152729, A D@0

:
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70819152730, B 2ol®o

70819152731, © @(®o

o o
70819152732, 4T CGERAIC

Question Number : 74 Question Id : 70819115857 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The locus of the mid-pnint of the line segment joining the focus of the parabo[a yz =daxtoa

moving point of the parabola, is another parabola whose directrix is :
Options:

70819152733, * =4

da

xX=—- —

70819152734, 2
70819152735, ¥ =0
)
70819152736. 2

Question Number : 74 Question Id : 70819115857 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

yi=4ax o)™ al0ICEUOBWINS CanddNMjo alddesnioswleal eo) enllm)alo
cogdlaflenym cosoeembasind awmiejalleles dbsmiealodim M0 d®
(Sl HO)M BHEO0) alROCIBWINS ‘WDNMSHBN * agima :

Options :

70819152733, * =4

:
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da
xX==-—
70819152734, 2

70819152735.

a
70819152736. 2

Question Number : 75 Question Id : 70819115858 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the tangent to the curve y=x> at the point P(t, t*) meets the curve again at Q, then the

ordinate of the point which divides PQ internally in the ratio 1: 2 is
Options :

70819152737.
70819152738, =
708191527309.

70819152740. =

Question Number : 75 Question Id : 70819115858 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y=1" a)™m QUbmWes P(t, t) agm enflo3jallear amosjun, Q agm enflosyalla
U MmO Malduilanym) ag@ldd, PQ agm® 1 : 2 @oweumLeml@ Endhen
allezdaan)m ellmalen ‘sadadlemy’ agoma :

Options :
gcollegedunias



70819152737.
70819152738, 2
t.'-E
70819152739,
3
70819152740, 2t

Question Number : 76 Question Id : 70819115859 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the plane passing through the point (1, 2, ~3) and perpendicular to the

planes 3x+y—2z=>5 and 2x-5y-z=7, is :
Options :

70819152741, ©X Sy +2z+10=0

70819152742, 11Xty +172+38=0
5 o

70819152743, % Y 2 0

70819152744, X 10y -2z +11=0

Question Number : 76 Question Id : 70819115859 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3x+y—2z=5, 2v-5y-z=7 af) mewmBas eosnialp (1, 2, -3) agm enflazjalleyes
HSMNBal0dh) MMM MAIEHIBN MUMAIOE)@06M :

Options :

VY P — .
70819152741, 6% —5y+2z+10=0 gcollegedunlas



70819152742, 11Xty +172+38=0

- B
70819152743, °X °Y 2 0

_ g o
70819152744, 2%~ 10y -2z +11=0

Question Number : 77 Question Id : 70819115860 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The distance of the point (1, 1, 9) from the point of intersection of the line

-3 y-4 g
“11 =*"'2 =3 and the plane x +y+z=17 is :

Options :

70819152745, 2319
70819152746, 192

70819152747. V38

70819152748, 5

Question Number : 77 Question Id : 70819115860 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
=3 y-1 =&
1 2
enflm)afled oflor (1, 1, 9) agyem endlosjnfiealsn e ajomoem :

ag)(Mm GEEI@Je x+y +2z=17 af)™ @A) MoewoElen)m

]

Options :

:
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70819152745, 2319
70819152746, 192

70819152747.

70819152748, 5

Question Number : 78 Question Id : 70819115861 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ordinary dice is rolled for a certain number of times. If the probability of getting an odd
number 2 times is equal to the probability of getting an even number 3 times, then the

probability of getting an odd number for odd number of times is :

Options :

70819152749. -

70819152750.

70819152751, 16

b=

70819152752.

Question Number : 78 Question Id : 70819115861 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

:
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80 MIWINEM ‘OO’ af®IMio MM ag)ol@ymm). @@, BRME) 2 ma6M
HlgiMalan mowmie MAZMoRY 3 MM digiMmalan Mmowm®io MILDI6M.
ag)@l@, BRICALD BAIMEDAE, BRTICAY HIFMES MWD Mm@ :

Options :

70819152749. -

70819152750.

70819152751, 16

1
70819152752, 2

Question Number : 79 Question Id : 70819115862 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two vertical poles are 150 m apart and the height of one is three times that of the other. If
from the middle point of the line joining their feet, an observer finds the angles of elevation of

their tops to be complementary, then the height of the shorter pole (in meters) is :

Options:

70819152753, 2°

70819152754, >0

70819152755, 20V3

70819152756, 29V3
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Question Number : 79 Question Id : 70819115862 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eloerd@o@] mlalead:oggim 2 @i 150 m epaeimdlecem. aoy ®erlen swao
pogomilen ajmiegl@oem’. eeal@ies abeamsd mimWlaflanim coaiwes
awyeniimyalad dlo afleseniemiod, @mo)es cacheaniem)sd ‘cdoog loaddl’ apen.
ag)#Ia, ealdddo dhl0amD @il sweo (digdld) agma :

Options :

70819152753.

70819152754.

70819152755.

70819152756.

30

Question Number : 80 Question Id : 70819115863 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement among the following that is a tautology is :

Options :

70819152757

70819152758.

70819152759

70819152760.

CAA(AVB)

Av (A AB)

[AAA—>B)]—>B

B—=[AA(A—=B)]

:
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Question Number : 80 Question Id : 70819115863 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

MOOY E1:0SIOTAlHNM (almimocimdnel@d ‘esoegoad’ Ep®) :

Options :
70819152757, 4~ (A Vv B)
70819152758, * (A~ B)

70819152759, | A~ (A—=B)]—B

70819152760, © LA N (A= B)]

Mathematics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 81 Question Id : 70819115864 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

708191597
6

Online
Mandatory
10

5

20

Yes

1
708191877

Yes

:
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If the least and the largest real values of «, for which the equation z+ «z—1|+2i=0
(z¢C and 1 =J_1) has a solution, are p and q respectively; then 4{p3 | qzj is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819115864 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

z+az-1/+2i=0 (26 C, i =V-1) agm pOEMORES MAAUOGOI@ « ©OS §.210)M)0
(Uel®00® eoalwmosyo mpeleBeIeT WLNoEao p @lo q @jo ag@sld, 4(p® + ¢) egmal
_ @omem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115865 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let BE (i=1, 2, 3) be three independent events in a sample space. The probability that only
B, occur is o, only B, occurs is  and only B, occurs isy. Let p be the probability that none of

the events B; occurs and these 4 probabilities satisfy the equations («—2) p=«f} and

P(By)

(B —3y) p=2v (All the probabilities are assumed to lie in the interval (0, 1)). Then D(B,) is

equal to

:
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115865 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

8o} momld minadmiee ayary eadallaaldowa oidisaoe B, (i=1, 2, 3) agma.
B, mo|@o Mocla9nomias mowi® «, @jo B, @o(@o Mosnl#nimias mowim f @jo
B, mo(@o moc/lanomias mowi® y ®@@dém. B, -0al &r) Mo
mosaflenonidlenomies mowim p @M. 4 MWl (a—28) p=ap, (B-3y) p=2py
ag)m qumaIdd)EIBGD H@EE68RIM]. (TVaWNmEG (0, 1) agim gosecugallaiosm). agsiad,

Ei) . .
P@B,) ™MD @6,

Response Type : Numeric
Evaluation Required For SA : Yes
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